FERME
CLOSED

&
R

ARVIKA.ca

Ay

MODELE 7002 / MODEL 7002
1 888 690-0096

®
Item No. Part No. | Qté/Qty DESCRIPTION
1 P-0030 4 Sangle de fixation/Fastening strap
2 INJ-0102 4 Embout de gouttiére/V cap
3 P-1005 2 Gouttiere/Gutter 50”
4 P-0910 2 Attache/Clamp 30mm
5 Cbz516134 2 Vis/Screw 5/16 x 1 ¥
6 Pwz516 4 Rondelle/Washer 5/16
7 HnInz51618 4 Ecrou/Nut 5/16
8 Cbz51634 2 Vis/Screw 5/16 X ¥
9 7000-BR-3 1 Bras/Arm 3 V4’
10 7000-BR-11B 1 Bras/Arm 11 2” BR




